N & o & AF & H A A
201795 S0la LB B3 AL2CAMRL
SH BANLRNRA
Bu: MY el 29
S HIIZ2 AN (&)
SA - BB B () - MM - BES Ol &t o San HmEET
BZAL 2N L 5,596,043 7,541,559 A 1,945,516
J| 8,600
Al 5,587,443
IMIEH 22 29 1,612,274 1,314,880 297,394
J| 8,600
Al 1,603,674
HIIE fI4Xel 1,612,274 1,314,880 297,394
J| 8,600
Al 1,603,674
& 2al 1,120,142 873,611 246,531
101 @124l 152,469 117,123 35,346
4 JI2ZtHZ22 s+ 152,469 117,123 35,346
OZAAIH QI 2 152,469
—QIMHEE FULANRA =2 134,661
ole e 59,4903 x5 25«12 89,235
S22 89,2303 x5 x52 23,200
= PN RSy 59,4903 x5 128 3,570
Z2HAlH| 2,000& *4H 622 23| 992
MTHEE S 89,235,000& »2.508% 2,239
- NESBEE 89,235,000& x1.5% 1,339
-ALBEZ 89,235,000 *2.95% 2,633
=20z 89,235,000& *4.5% 4,016
ZARE EIEZ 59,490 x5H x252 x 14 7,437
—SZANE2ACUMEL ==22QUR 8,970
el o=l 74,7503 *3F 102! x4 3] 8,970
—FMUHEE YERH AR Y 8,838
- QIR Y 52,1903 x2H 62 6,472
Faxd 52,1903 »2H 9 940
2HALH| 2,000 x2H 62 *23| 496
AMTEEE 8,097,000& *2.508% 204
NE2E= 8,097,000& x1.5% 122
HAEE = 8,097,000 x2.95% 239
=0z 8,097,000& *4.5% 365
201 Yet2 | 487,298 508,495 ~21,197
01 At 22l 33,135 54,332 AN 21,197
Oger==8H| 27,860
—d2AsHE OQAZEXN 2
80,000& »1CH x6 2 480
—0lHIl SNl 150,000 =10 »23] 300
—NEANE Ea UEE 1,200, 000& *33| 3,600
— Xlots HIZEM == (2I113])
600, 000& *43] 2,400
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N BIAEL2ANRA

i AU 22 23

S HIIZ2 AN (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OAIE ZHI S X 32,400
—JIAANE sX22b
1,500,000& » 12& x90% 16,200
—dIIAME |X 228
1,500, 000& » 12& x90% 16,200
OXHE & Bl 144,240
—HEgE =&dl =2l 30,000,000& » 14! 30,000
— & ==X =2l 30,000,000& =14 30,000
-~ RH SFTU(EZX 2 904)
1,300& »12L»4H*300L = 10CH *45% 84,240
OZR3s a2z 8 2=zl 16,300
— XY HSIHA ESSAY
7,000 «25% 43| <123 8,400
—HNE JtAHS %ERY
50,000& 259 *63] 7,500
—H&E &H =243l 100, 000& 42| 400
202 44l 8,853 3,971 4,882
01 = LH o4 1l 8,853 3,971 4,882
O=&Z& A= 52,6003 x2H 128 1,263
ORI MO & HA&KX AS 210,800 «3H x43] 2,530
A GRFE 2204l 210,800 x6H x4 H 5,060
206 M= Hl 124,022 124,022 0
01 =8l 124,022 124,022 0
Olfgd godis AZTFU(H4EM)
38,5003 *14 *250 9,625
Ogd dFMeAdEZ(EFHM) 2
3,250 «10L*250 8,125
OJIA Jts& 78+ E 1,872
—2E8R= 2,300& %1204 =63l 1,656
—FedAOISE JIH =¢)
3,600& «bkgx12& 216
OJIAHANE SM4Z HE 1,000, 000& 14! 1,000
OJIA=elE ML (HAHH L)
1,000, 000& 14 1,000
O=2EE EATY 10,000& *10,000m* 100,000
OFIINMM AZEF2L(AHOE S 2)
200,000 122 2,400
207 A RO 50,000 0 50,000
01 284 50,000 0 50,000
OFAMMYT FHXY BHHSLEA B8
50,000,000& =14l 50,000
401 AIEHI L 2 CHYI 70,000 120,000 A 50,000
01 A& HI 70,000 120,000 A 50,000
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S HIIZ2 AN (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O2& XM =l (HE8H==SIt)
40,000,000& =14 40,000
ONYZ ¢ 2 NS FHIN
30,000,000& =14 30,000
405 XHoHF S HI 227,500 0 227,500
01 et ESFH S 227,500 0 227,500
O &L neatxxt 2¢
185,000, 0002 *1CH 185,000
OME =Y YoAx 7Y 40,000,000 *1CH 40,000
OHEM 2TXHS YY) 2
2,500,000% = 1CH 2,500
2 483,532 432,621 50,911
201 L2l 165,768 114,768 51,000
01 At 2t 2l 62,764 11,764 51,000
Oget=&H| 62,764
— =AM RABLAH(EH 7 S)
350,000 »1CH »33] 1,050
—diold ZgH EH #¢ 237,000& »23| 474
—TAIZe sX2eldl 110,000 »1CH »23] 220
—SASX 7Y 20,0003 22t A %128 480
—Jilg A8 150, 000& *23| 300
—H=Z M2 4,000
- g2 200,000 x123] 2,400
-8 200,000& *43] 800
S == Al = 200,000 *43| 800
— &l 428A =2 110,000& 42l 440
— NEAE ZIIZEA =8
2,000,000& =13l 2,000
—SEIZRN HYEF FLUHIS
2,000,000& x14 2,000
—JIEt HHEE FALOISMAS 2d )
800,000& » 14! 800
—aY 2L FZ 1,000, 000& *13] 1,000
—%4F Jlsdd 50,000,000& =13l 50,000
02 2324l 103,004 103,004 0
Oz22= & HMA 1,244
— EHADE Y ZEEEE 827
AEEH(5E) 497,000 x1CH+ 13 497
- 224 330,000 x1CH*13] 330
— NEHEAE FIBAE 117
AZEH(5E) 77,0002 x1CH* 13 77
220 40,0003 x1CH*13 40
—S3ZNERE = 150, 000& *23| 300
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el EBIIZ FIMR 2 (ol @)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
O Xt &k Bty 5,760
— XEFEH ¥ KX 5,760
AE(5E) 2,400, 000& *1CH *90% 2,160
HH(22d) 300,000& x12& 3,600
OAlI& & Hl s XYl 96,000
— 3 A2 2E JH € AMEsX b
8,000,000& x12& 96,000
202 04| 2,108 2,197 A 89
01 2LH O HI 2,108 2,197 A 89
OH=+Z& A2 2 52,6003 *1H x123] 632
OE&H 42Z A2 g 52,600& x1H x4 3] 211
OXNEASANE dRFE bl
210,800& 2H 33| 1,265
206 M = Hl 215,656 215,656 0
01 & bl 215,656 215,656 0
OsSAZEH=x & E&+ HelsdE 2| 70,896
— 0= 22 M 269, 000& *20kg* 12& *90% 58,104
IR =—='g=P\| 25,000 x7ES*x12& 2,100
— EFA 59,4003 *158 x12& 10,692
O (=2xd) 45,000& *180m" * 122 *90% 87,480
OJIAIsE FFFY 6,480
- 2,300& *200L*12& 5,520
- JHeY 2,500& *20L*12& 600
= 3,000& x10L*x12& 360
OJlAHl=elg NP (IHLIHETHE S 16
=) 40,000,000& * 14 40,000
OxzHEHDT & DHFY 10,800
— QHAE 43T I (PDN750MA)
400,000& *6CH 2,400
—QH+= =3I (PDN7521)
350,000& =6CH 2,100
— 2 E (20HP) 1,200, 000& *3CH 3,600
— 28 (10HP) 600, 000& *30H 1,800
— 2H(3HP) 300, 0003 =3CH 900
401 Al HI L 2Tl 100,000 100,000 0
01 A& HI 100,000 100,000 0
OSAMEE HIIZ2HMe A& WAl
100,000, 0003 =14 100,000
SHAFENY KA 8,600 8,648 A48
Jl 8,600
308 XX S M SO0l & 8,600 8,648 N48
Dl 8,600
M IJIEtRE 2 8,600 8,648 A48
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X ZH -
L= B
el

AL ZCAIR A
Adiigd 22 29

HolS I8

= d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZd4s =N 2ANA NS Boia
8,600,000& x13l 8,600
J| 8,600
SAUHNUXNME 2224 3,484,473 5,905, 191 A2,420,718
SFHUXNMMEHZ S 3,484,473 5,905,191 A2,420,718
BIUUXNMHZY 3,484,473 5,905, 191 A2,420,718
201 Let24d]| 4,586 4,886 A 300
01 At 22/l 4,106 4,406 A 300
o2g+g 700
—EZ0UXHH SuEoteAs FAasY
700,000& » 14! 700
O el 3,406
BIUHUXHE MEE oI MEZSHEH
- 237,000 »1CH 23] 474
—SZUUXHEH AFRE SAH EH € &
g 72 330,000 »1CH *23] 660
—SZUNUXME AIRES HAZ2EH 2¢
110,000 »1CH »23] 220
—ESZUXNAH BAEE 7Y
150, 0002 14! 150
—SZ0UHXHE A2 JHEEX 2
80,000& »1CH »62 480
—S30HUXNMEH H2W dOoIHdEZSH "X
22| 237,000 »1CH »6 2 1,422
02 2324l 480 480 0
Oz22= & HA 480
—SZ0UXAE HZU 88 2HY MEEZ
30,000& 122 360
—SZUUXNEH SEYE AIEZ
10,000& =128 120
202 O4dl 1,687 1,805 A118
01 = LH 4 Hi 1,687 1,805 A118
OZ0UXME 222 AR 82
210,800& x2H *43| 1,687
307 21201 A 3,478,200 5,797,000 A 2,318,800
05 BIZERI & 3 3,478,200 5,797,000 A 2,318,800
Odt==eiAXMeIAlE 2eltdhl
3,097,000, 000& * 141 *60% 1,858,200
OMEHIIZHHNE AS2H 2l
2,700,000,000& * 14! x60% 1,620,000
MEES(BZEALE2AAR L) 392,982 209,679 183,303
LHEHHX S (BB A EZLARD) 392,982 209,679 183,303
FHOts FUXNAIIS = 392,982 209,679 183,303
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SA: BAANLBLAANRL
HH: YRHS(HZANLBRANSA)

SRl WRAHHX S (BB AL 2LIARA) (&)
= (o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
702 JISEEZS 392,982 209,679 183,303
0ol=ds= 392,982 209,679 183,303
OstZANL2eANRA FRO0IS FUXRAIIS 392,982
—SYHEE BHLYS
2,706, 138,670& »10%* 100% 270,614
- 23825 ABY
191,773,200 *10%=*100% 19,178
—AZE HII=S =2
62,985, 000& *10%* 100% 6,299
—SA2 HIIS BYasE
235,500, 000& *10%* 100% 23,550
—HEHII=S et
458,995,500& *10%* 100% 45,900
—HUXME DHEAR B L2
241,185,000& *10%* 100% 24,119
—OHEItA EHAIE =23
33,212,320%10%*100% 3,322
HY2AZY (BHE AL H2IAIRA) 106,314 111,809 A5,495
ClHAIY(SHF AL H2AIRA) 48,911 48,911 0
OlA2IHH(SHZ AL 2AMRL) 48,911 48,911 0
101 @14 Hl 48,911 48,911 0
01 2= 48,911 48,911 0
OFY2L2Y(LBIHAR)
83,0403 x 19«62 x50% 48,911
Jl2ZHl(BFFAIE 2L AR A) 57,403 62,898 A5,495
Jl2dul (2P AE2LARL) 57,403 62,898 A5,495
201 2et24d] 19,063 19,143 A 80
01 At 2teltl 19,063 19,143 A 80
O+t 9,991
—Jilg ARESHI 100,000& » 18 1,800
— T2y sA2acl 237,000& =4 CH +33] 2,844
— SA SXUZ2H(EH #E &)
330,000& «1CH *43] 1,320
— WAIZ2 |2 110,000 = 1CH »23 220
—SAMEX 7Y 20,0003 x62 A %128 1,440
—AIR4 R1FH 9|
122,200 10 A+ 123 1,467
—Jl2 EaxE3H| 150,000 =62 900
Oz &l 9,072
— MR EB S204A
7,0003 x18H x6L 128 9,072
202 (4 Hl 34,560 39,975 A5,415
01 = LH 4 Hi 34,560 39,975 A5,415
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